An Example of Non-Ideal Op-Amp Behavior (and a fix)

The inputs to real op-amps do draw some current. Let’s consider an op-amp that is ideal
in all respects ezcept that a constant bias current iz flows into both the inverting and the

non-inverting inputs.
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Determine an expression for vgys.
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Consider the illustrated “fix.” The bias current flowing through R3 will result in a non-

zero voltage vy at the inverting input. With a proper choice of Rs we can cancel the offset

in the output that results from the non-zero bias current:
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Determine the value of Ry that will cancel the offset, i.e., determine a value of R3 that will

make the output
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